_> restart

(5>€L1 TZLl‘f“gﬂf EXLLJr SXL( -ch)%

> Ecuacion := 3-x-y(X) -2 +2-y(X) -3+ 8-y(X) + (2:X--2-y(X) + 3-X-y(X) -2 + 4-X)
-diff (y(x), )=0

Ecuacion = 3xy(x)% +2y(x)3 + 8y(x) + (2Xy(X) +3xy(X)? + 4x) (% y(x)):o

:> with(DEtools) :
> odeadvisor (Ecuacion)
[_rational ]

[ > Faclnt := intfactor (Ecuacion)
Faclnt = X

[ > NuevaEcuacion := Facl nt-1hs( Ecuacion) = Faclnt-rhs(Ecuacion)
NuevaEcuacion := X (3 xy(x)2 +2Yy(X ) +8y(x + (2 x2y +3 xy(x)2

d _
] +4x) (dx y(x)))—o
> odeadvisor (NuevaEcuacion)
[ _exact, rational]

=> expand( NuevaEcuacion)
3X%y(x) % +2xy(x)° +8xy(x) +2 (— y(X)j Cy(x) +3 (—X y(X)) X y(x)

+4X (% y(x)) =0

> M:=3¥yV+2xy>+8xy

M:=3y2x2+2y3x+8xy
> N:=2Xy+3X%yV+4x%

N:=2xCy + 3y + 4%

> comprobacion := simplify(diff (M, y) —diff (N, x)) =0
comprobacion:=0=0

> IntMx := int(M, x)
Inth::y2x3+y3X2+4x2y
> SolucionGeneral := IntMx + int( (N — diff (IntMx, y) ), y) =C;
SolucionGeneral :=y2x3—i—y3><2—i—4><2y=C1
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restart

Ecuacion := 2-X-y(X) -2 —3-y(X) -3+ (7 — 3-X-y(x) --2) -diff (y(x), x) =0

Ecuacion:=2 xy(x)2 —3y(x)3+ (7 — 3xy(x)?) ( d

with( DEtooals) :
odeadvisor (Ecuacion)

intfactor (Ecuacion)

N =7 —3xy’
DerMy = diff (M, y)

DerNx := diff (N, X)

&y(x))=o

[ rational ]
1
y(x)?
M:=2xy*—3y°
N:=7—3xy’

DerMy::4xy—9y2

DerNx:= —3y2

(DerMy — DerNx)

Fix = simplify(

o)

Fix:= - 2Y(2X=3Y)

-7+ 3xy

Fly = simplify(

(DerNx — DerMy) )
M

2
Fly:=-—
Y y

—int( <L ) =i
EVS:= mt( — mu) =int(Fly,y)

EVS:=In(u) =-21In(y)

Factint := isolate(EVS mu)

Factint :=p=

1
y

MM := expand(rhs(Factint) -M); NN := expand(rhs(Factint) -N)

MM:=2x—3y
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NN::l —3X

comprobacion, := diff (MM, y) —diff (NN, x) =0
comprobacion, :=0=0

SolGral = int(MM, x) + int( (NN — diff (int(MM, x),y)),y) =C;

SolGral := ¢ — 3xy—; =C,

. 7
Sol = x2—3 -——=C
ucion XY(X) y(x) 1

- 7
Sol :=X2—3 — =C
ucion XY(X) v .
EcuaUno := simplify(isolate(diff (Solucion, x), diff (y(x), X)) )
2
EcuaUno := d y(X) = _(=2x+3Yy(X)) yz(X)
dx -7 +3xy(X)

EcuaDos := isolate( Ecuacion, diff (y(x), X))
-2xy(x)*+3y(x)°
7—3 xy(x)2

comprobacion := simplify(rhs(EcuaUno) — rhs(EcuaDos)) =0
comprobacion:=0=0

_ d _
EcuaDos:= ix y(X) =
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